Sl

SRR

R HE AR

Rt
HEHER

=IO

ROA

K AR RN T2 COREXEREY GRERRMOELELZET) &

ZOMDEBEIEZ I AR T RZTT 4 — RNy

SM6E 4 Ay REZEREY GRERRE OB
ZED) - T OMOEFHEE

w i E SRS

B Z Dt DR

e X REH GREFRE O E 2 &)

BB ISR COXERE 4845

REXERYE (RERREOBHAXEZET)

-z
FLIRARHLAE S

EIES 37

L Ve S Ei
HRBE IR RS 1

o R

o8 TR E HR R ST
Frie (Ll b R i
PR

b DL Y BB
ITHEBN 4 FRGE 1R
flidil - EHHEE =

H RS

1 T2 S
FECRRR B S

Z Dt o 3%

THFEIA RABISKBERHEAH

eEeSeSeSeSess————————————— 15000
=== 10500
== 2000

E== 1500

EBe——x= 3600

EBe== 2500

EBE=———= 3200
e 9500
E=——— 3700

Be= 2400

EBE== 1500

== 1300

=== 1230

== 2000

E= 1000

E 210

0 2000 4000 6000 8000 10000 12000 14000 16000



BB

M ERKR

=IO

Z DD

BAB ISR TOXEGRRE 4H%

A

TOROKH SM6F4IA RABILRBRMAR

kB oiHE %%
SegHIESE S

GRS

LQETIE

Fr B RIS A F%
b

4 v b HE
BEANED O DZFEHHE
HHAD b DRFLHE
AR 22 & D ZFEFEE

B S b OZFCHRE
PR D & DZFCRE
PIE R H b DZFLRE
WG KM A0 b DRZFLEIE
KAV b — FHEEH O OZFTFE
FEBFME 2O OZFLFE
Z OfthHfE D b DZFEHEE
AR A2
TR B 5
HHEI N BCRE SR I 1 B 3 2 i
FATINVAVN LTS R
BREENRHAFEE
SN U %

Z Dt D IS 1

= 200

= 1300

& 1500
B 1400

== 1300

_——— 2100

e 2200

= 900
Ee=e——— 900
&= 3850

=e=e=ee————————— 1800

EBe—————#¥——— 1500
EBe—— 820

EB=—= 500
E=== 300
Ee———— 600
E=———— 530
E—— 500
E— 300
E==——— 500
= 100

&= 100

—— R\
B 800

0 500 1000

1500

2000

2500




N

R E SR RER R o E B 2 &)
w64 A D ERIE &

Z DAty
9%

Bl HRE SR
28%

PR
21%
mREUCERS m RS mHiBEREESE 2 ofth

X DIDZER oAl 6 £ 4 AERIEG

Z D, 12%

PHERSERS, 47%

ZAEHE, 41%

B EER mZEtEE w2 oft




